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' '0-064 x 625
; t —_— ?
1 What is 0081x 484 equal to

(a)

(b)

(c)
(d)

2. (x + 4) is a factor of which one of the following | 6-

10

99

100
99

9
29

expressions ?

(a)
(b)
()
(d)

X2 —Tx + 44
x2+7x-44
X% —Tx — 44

x2+7x+44

If oo and B are the roots of the quadratic
equation 2x2 + 6x + k = 0, where k < 0, then

what is the maximum value of % + E ?
o

(a)
(b)
(c)
(d)

4, Consider the following statements ;

1

o

Which of the abave statements is/are correct ?

(a).
(b)
(c)

(d)

BLS-S-FDE

If a =be with HCF (b, ¢) = 1, then
HCF (e, bd) = HCF (e, d).

If a=bec with HCF (b, ¢) = 1, then
LCM (a, d) = LCM (e, bd).

1 only
2 only _
Both 1 and 2

Neither 1 nor 2

(2-A)

What is the square root of

(035)2 + 070 +1

395 +019?
(a 1
(b) 2
() 3
(d 4

What is the number of digits in 2409
(Given that log,, 2 = 0-301)

(a) 14
(b) 13
() 12
(d 11

If one root of
(a®-5a+3)x°+(Ba-1x+2=0

is twice the other, then what is the wvalue
of ‘a’?

@ -g-
® - %
@ 3

@ - %

What is the remai:_lder when the number

(4444)*444 ig divided by 9 ?

(a) 4
(b) 6
e 7
(d 8
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0064 x 625 femes e .% o
0-081x 4-84 '

10
99
100
99
(e) 9

(d 99

(a)

(b)

x + 4), Freffias =i § 3 fraew TrEE
¥

(a) x°—Tx+44

) x%+Tx—44

© x>—Tx—44

@) x2+7x+44

afe o 3R p feama adfieor 252 + 6x + k = 0, &l
k<O0%®, % 9a &, @I %+% 1 Afhad A
TR ?

(a) 2

b -2

(¢ 9

d -9

Trefeftaa suAl @ famm it .

1. afe a=be  HCF(b,c)=1, @
HCF (¢, bd) = HCF (c, d).

9. 9f¢ a=be ¥ HCF (b,c) =1, dl
LCM (a, d) = LCM (c, bd).

3uth el o & i g R 2
(a) Hee 1

(b) HaSA 2

(¢) 13 23!

(d Ta1,T8E2

(3-A)

; 2 3
(30" +070+1 . 519 1 e freeh R

295
82

@ 1

b) 2

(c) 3

@ 4

2403 arent 1 AT T & 2
(fem 1 @ 46 log, , 2 = 0-301)
(a) 14

(b) 13

(c) 12

@ 11

Afg T (2% - 5a+ 3)x%+ (Ba-1)x+2=0
1 T Yo GO HA 1 GAT ], T ‘2’ & I R
g2

2
(a) g

(b)) -

wW|bo

(c)

e

g
3 ==
(d) 3

I T (4444)** 31 9 ¥ fafea femar e
2, I TS T AT R ?

(a) 4
(b) 6
(&~ ¥
(d 8




12, IfA:B = 3: 4, then what is the value of the

5; i x= Ja+b-—Ja-b

, then what is

Ja+b+a-b . [3A2+4BJ
expression = ?
bx%—2ax +b equal to (b#0)? 3A — 4B
43
(a) 0 . (@) =
43
...
®d 1 (b) =
47
(¢) ab (c) =
(d) 2ab (d) Cannot be determined

13. If A ={x:xis amultiple of 7},
B = {x : x is a multiple of 5} and
C = {x : x 13 a multiple of 35},

10. What is the value of

(443 + 547)% + (443 — 547)2

9 then which one of the following is a null set ?
443x 443 + 547 x 547 @ (A-B)UC
c AnBNC
I (@ (ANB)-C
(© 2 14, If x=2+2%34 2]}3, then what is the value of
x3 —6x2 +6x?
(d 3
(a) 3
(b) 2
. 1 B © 1
11. If x=t'"1 and y = gFt ,t>0,t# 1, then
what is the _relation between x and y ? @ 0
1/ 15. If E=g{£+ Y and x +y =26, then what
@ ez’ ) y b X y :

is the value of xy ?
(b) x5 =yl

(@) &
i e | ®) 15
(e) 25
d xV=yl ) 30

BLS-S-FDE (4-A)




9, qﬁ x_1;'a+b—,/a—b ar

N \Ia+b +Ja—b :
bx2 - 2ax + b THEF TUT B (b= 0) ?

(@ 0
(b) 1
(c) ab
(d) 2ab

(443 + 5472 + (443 — 547)2

10. ST FATE 2

443 x 443 + 547 x 547
(a) 0
by 1
() 2
(d 3

1 1
11. 3R x=tt"1 W y=tt"1, t>0,t21, A

x 3R y o Tey 77 gy g 7

(@) y*=x

BLS-S-FDE | (5-

g 2
12. AR A:B=3:4 a = |2 1B mam
8A —4B2
R ?
43
(a) %
43
B s
(b) =
47
(C) E

(d) TrerTen & A1 wehar

13. AR A =(x:x, 7 Teh U &),
B={x:x,53|?l@'ﬂwgl%}3:ﬁ'(
C = {x : x, 35 I T U &},
@ Fr=fafea # @ w9 o ag== 2 2

(a) A-B)ucC
(b) (A-B)-C

@ (ANBNC
d AnNB-C

14, AR x=2+223 1918 @ x®_6x%+6x W

HH R ?
(a) 3
(b) 2
(e 1
d o0

15. 4f2 F:%Jfﬁ M x +y =26, d xy &
hid X

AH F1 8 2

(a) 6

® 15

© 25 ‘
(d 30

A)



16. 'What is the solution of the equation
x log,, (%J +log,, 3 = log,,(2+3%) +x?
(a) 10
(b) 3
(e 1
d o0
17. If o and B are the roots of the equation
x2 + px + q = 0, then what is o? + p2 equal to ?
(a) p*-2q
(b) q*-2p
(c) p2 +2q
(d q?-q
18. If a®=335+Db? and a=5+b, then what is
the value of a + b (given that a>0and b > 0) ?
(a) T
(b) 9
() 16
(d) 49
19. If 9% 3¥ = 2187 and 2%* 2% - 4% =0, then
what can be the value of (x + y) ?
(a) 1
(b) 3
(e) 5
d 7
BLS-S-FDE

20.

21,

22,

23.

(6-A)

The pair of linear equations kx + 3y + 1 =0
and 2x + y + 3 =0 intersect each other, if

(a) k=6

b)) k=6

) k=0

(d k=0

The number of prime numbers ' "1 are less
than 100 is g

(a) 24

(b) 25

() 26

(d) 27

The cost of a diamond varies directly as the
square of its weight. A diamond broke into
four pieces with their weights in the ratio of
1:2:3: 4. If the loss in total value of the
diamond was ¥ 70,000, what was the price of

the original diamond ?

(a) ¥ 1,00,000
(b) ¥ 1,40,000
(¢) ¥ 1,50,000
(d ¥ 1,75,000

In a 100 m race, A runs at a speed of -g— m/s. If

A gives a start of 4 m to B and still beats him
by 12 seconds, what is the speed of B ?

(a) % m/s
(b) %— m/s
(e) % m/s
@ 5w



16. @i 20. A geh THHT kx + 3y + 1=0 3N

1 2 3 = (0 Th-gBe &l fd=ee = B,
xlog,, [£~J+Iog103 = 10310(2+3x)+x qxﬁ"'.‘r"" %@ g
P EA TR ? -
(@ 10 b k%6
(b) 3 e) k=0
© 1 d k=0
() 21. 100 ¥ DIt FHST T3] (prime numbers)
T B
(a) 24
17. I o 3R B, THI 2% + px + q = 0 % N &, i
al o + p2 foress sE & 2
(c) 26
(a) p%-2q d) 27
b) q*-2p 22. TN I HeA 3@ a9 & T H AIET TIF
© p?+2q yiafdd g1 & | T g/ =) 9w # g W iR
TSI o 9 1 FIIE 1:2:3: 47 | TQ W
d d?-q % $A Yed H T 70,000 FH THAE T T,

&R 1 e ge @@ ot ?

18. 3¢ 2% =385 + b2 R a=5+hb, T a+b I G = 100,000

g d (g as>03itb>0)7 (b) ¥ 1,40,000
: () ¥ 1,50,000

(a) 7 (d < 1,75,000
(b) 9 ; 5
23. 100 m I TF &S F, A, 3 mis it fg ¥ grean
) 16 .
c) : 21 afe A g § B, 4 m M (iEw i
d 49 A) | TN Y& FaT & R e oft A 3@
12 9V ¥ & oaT 8, af Bl 7Ifa T 7 2
19. 3% 9¥37=2187 3R 27 2F _4¥_0, @ (a) gmfs
(x + y) ST U 7T & Fhal & ? »
(b) — mfs
(a) 1 5
b) 3 (c) %m!s
() b5 8
@ 7 W pas

BLS-S-FDE T



24. If 15 men take 21 days of 8 hours each to do a
piece of work, then what is the number of days
of 6 hours each that 21 women would take, if
3 women would do as much work as 2 men ?
(a) 18
(b) 20
(e) 25
(d 30

25. What number must be subtracted from both

the numerator and the denominator of the

fraction % so that it becomes ;— ?

(a) 6
(b) 8
¢ 9
(d 11

26. A sum of T 8,400 was taken as a loan. This is
to be paid in two equal instalments. If the rate
of interest is 10% per annum, compounded

annually, then the value of each instalment
is

(a) T 4,200

(b) T 4,480

(c) T 4,840

(d) None of the above
BLS-S-FDE

27,

28.

29.

(8-A)

Leela got married 6 years ago. Today her age

is 1%times her age at the time of her

marriage. Her son’s age is Tlﬁtimes her age.

What is the present age of her son ?

(a) 1year

(b) 2years
(¢) 3years
(d) 4 years

A and B working together can finish a piece of
work in 12 days while B alone can finish it in
30 days. In how many days can A alone finish
the work ?

(a) 18 days
(b) 20 days
(c) 24 days
(d) 25days

The values of x which satisfy the egquation
5L*+X 4+ 51-% = 26 are

(a) -1,1
(b) 0,1
() 1,2
d -1,0

If 5 men can do a piece of work in 10 days and
12 women can do the same work in 15 days,
the number of days required to complete the
work by 5 men and 6 women is

1

(a) 7 3 days

(b) 8 days
1
9—-d
(e) 5 ays

(d) 12 days



24. AR 8% WA o o §U 15 EH TH HW
I HA H 21 o7 o &, O I W w6 €L
gfifer ww gu 21 ofvd fFm fm & @ =
nift, afe 3 aid, 2 ol & %™ % W
HH FH 8 ?

(a) 18
(b) 20
(e} 25
d 30

25. ﬁaﬂ%%m#ﬁaﬁﬁﬁ#-ﬁm
aaém,mﬁmsgﬁrm? -
(a) 6
(b) 8
O B
@ 11

26. ¥ 8,400 U yAUR IR WA W 2 1 W A
e foRet ® g ST 8 | A Sty s
1 T 10% Wit ¥ @ S arfies &9 | QT S
AR TR g ?

(a) T 4,200

(b) T 4,480

(¢) T 4,840

@ 3w 3 d B T
BLS-S-FDE

27, <fien 1 faame 6 af qd g A1 | ST Gl

28.

29,

(9-A)

(@

m,mm%mﬁmﬁli—gﬁ

2 | 3% I3 I 37, 3T Iy IlaIFﬁ%l
3G% g3 <l FauH Mg 4 R 2

(a) 194

(b)y 299

(¢ 3a9

@ 499

A 3R B Ush G h1H Hleh Uk i o 12 8 #
TUTS X Gehd €, W96 B Thd 39 HE I
30 fa o X TeheT B | 3Rl T Fd T A TH
P H o Rrd g w2 2

(@ 18f&
b) 20 f&
() 24 f&m
@ 25 fe

T 511 4 51 7% = 26 HY HIE FA A

x % A A % ?
(a -1,1

(b) 0,1

(e) 1,2

-1,0

gfe 5 amedt wh wE W 10 foq § o ged &
3T 12 3d 3 et = 15 feT § = geRedt €,
@l 5 2gH 3R 6 Ad 3¢t F w foraa fem A
T HAT ?

1
751‘&?
(b) 8fem

1
(C) ggﬁq
12fe=

(a)

(d)



31.

32,

33.

34.

BLS-S-FDE

A passenger train departs from Delhi at 6 p.m.
for Mumbai. At 9 p.m., an express train,
whose average speed exceeds that of the
passenger train by 15 km/hour leaves Mumbai
for Delhi. Two trains meet each other
mid-route. At what time do they meet, given
that the distance between the cities is
1080 km ?

(a)
(b)
(¢) 12 midnight
(d)

4 p.m.

2 a.m,

6 a.m.

In a class of 49 students, the ratio of girls to
bays is 4 : 3. If 4 girls leave the class, the ratio
of girls to boys would be

(a) 11:7
(b)y 8:7
(c) 6:5
(d 9:8

If a+b=5 and ab = 6, then what is the
value of a%+b? ? '

(a) 35
(b) 40
(e) 90
(d) 125

Rajendra bought a mobile with 25% discount
on the selling price. If the mobile cost him
T 4,875, what is the original selling price of
the mobile ?

(a) ¥ 6,300
(b)
(c)
(d)

Z 6,400
T 6,500
T 6,600

35.

36.

317.

38.

(10—A)

A 225 m long train is running at a speed of
30 km/hour. How much time does it take to
cross a man running at 3 km/hour in the same
direction ?

(a) 40 seconds
(b) 30 seconds
(e) 25 seconds
(d) 15 seconds

Which one among the following is the largest ?

@ o
(b) %
(0) %
(d) %

The difference between the simple and the

compound interest on a certain sum of money
at 4% per annum in 2 years is ¥ 10. What is

the sum ?

(a) T 5,000
(b) ¥ 6,000
() 6,250
d 17,500

If a% of a + b% of b = 2% of ab, then what
percentof ais b ?

(a) 50%

(b) 756%

(¢) 100%

(d) Cannot be determined



31. UF TETd WE 6 p.m. W g @ g & fog
TYH WA 8§ | T TeENd fonnet, et
aftag i werd M A 16 kayde U R,
9p.1n.“§ﬁ§@ﬁ@%%’§ﬁﬁ?ﬁ%lﬁ
tomieat nemant § uhgm ¥ fradt § | Qi
Yermfeat e oy fiehft, ofz SF1 w=t & &=
1 gt 1080 km @ ?

(a) 4pm.
(h) 2am.
(¢) 127
(d 6am.

39. 49 el &t wss wean #, creferal g Tewl
I 4: 3% | A 4 et e o8 < ¥,
a1 Aisfrdl @ wIgehi T U T BT 2
(a) 11:7
(b) 8:7
() 6:5
(d 9:8

33, AR a+b=53 ab=6,dl a®+ b’ AH T
27
(a) 35
(b) 40
() 90
(@ 125

34, o= 3 fUhd goW W 25% TE F WU TH|
e wier | aft & diEEe T 4,875 H
wlier, a1 WeTge &1 TRENE fasha qou &= 8 ?
(a) ¥6,300
(b) T 6,400
(c) 6,500
(@ 6,600

BLS-S-FDE

35.

- | 36.

37.

38.

(11-A)

295 m @ U Lormel 30 km/ERT H A |
I W & | T8 T et Hl, S 3 ks 6
Ty & T % = i feer 7 G wr g, N

w0 ¥ e auy @t 2
(a) 40 TFUS
(b) 30 BHTE
(c) 25THIS
(d) 15 9HhUS
frfafiga & 4 - T CE S
7
(a} 5
11
W .oz
3
(C) E
10
@ 3

T GO 9 4% 0 ad H @ d 299 #, T
T THIfG AW H FR T 10 & | GURT
£

(a) ¥ 5,000
(b) ¥ 6,000
(© ¥ 6,250
(d) ¢ 7,500

afe a %1 a% + b 1 b% = ab T 2% @, @l a
fepa wftrera b2 2

(a) 50%

(b) 75%

(e) 100%

(@) Fepre =g S dhan



5

39. gth part of the population in a village are
males. If 30% of the males are married, the
percentage of unmarried females in the total
population is

2

20—

(a) 9
2

b 27—
(b) 9
7

() 27—
9

2

d 29—
(d) 5

40. Sunil wants to spend ¥ 200 on two types of
sweets, costing ¥ 7 and ¥ 10 respectively.
What is the maximum number of sweets he
can get so that no money is left over ?

(@ 25
(b) 26
(0 27
(d) 28

41. What is the LCM of x% + 8, x? +5x + 6 and

x3 + 4%2% + 4% ?
(@ xE+22x+3)&x%2-2x+4)
® xx-22(x-3)x2+2x+4)
© &+27°x+3)(x2-2x+4)
@ x-22x-3)2-2x+4)

42. The HCF of two expressions p and q is 1. What
is the reciprocal of their LCM ?
(a) p+gq
(b) p-q

- (& pq
(@ (pg~1
BLS-S-FDE

43.

45.

(12-A)

What is the value of 31’42— 7
125

(a) 1%
(b) 1%
(c) 1%
@ 2 %

A thief is spotted by a policeman from a
distance of 100 m. When the policeman starts
the chase, the thief also starts running. If the
speed of the thief is 8 km/hour and that of the
policeman is 10 km/hour, then how far will the
thief have to run before he is overtaken ?

(a) 200m
(b) 300 m
() 400m
(d) 500m

Aman and Alok attempted to solve a quadratic
equation. Aman made a mistake in writing
down the constant term and ended up in roots
(4, 3). Alok made a mistake in writing down
the coefficient of x to get roots (3, 2). The
correct roots of the equation are

(a) -4, -3
(b) 6,1
(e¢) 4, 3
d -6, -1



39.

40.

41.

42,

BLS-S-FDE

@ﬁaﬁﬁmwgmw%iﬂﬁ
30% 9 foerfeg 8, @@ $oa SHgen #
Ffqaifaa afeenstt =0 gfowa a8 2

(a) 20—

NeBiS]

2

b 27—
(b) 5

T
27—
(c) 9

2

292
(d 99

giie € 200 & YhR R fIemdl W "
wEaT B, foe gou s ¥ 7 9 T 10 2 |
firersal & a8 siftrman ge w0 7, 8 o W
IS T I T T ?

(a) 25
(b) 26
() 27
(d) 28

x3+8, = + bx + 6 3 2:3+432+4x <hl
LCM &1 8 ?

(a) x(x+2)2x+3)(x%-2x+4)
b) x(x-272x-3)x2+2x+4)
© (x+2°2x+3)(x2-2x+4)

d) x-22x-3)x%-2x+4)

Gl sdwehl p 3N q T HCF, 1§ | 3% LCM &I
YR FT 8 ?

(a)
(b)
(¢) pq
(d)

p+q

P—q

(pq)~*

43.

45.

(13-A)

gla 2
1
(a) 1—=
by 1
(c) 1—

2
d 2—
(d) 5

s fourdl 3 T 9 #1100 m B gh F fafea
R | v R 3 fer e T e, SR
ff 9P @ | gfe =X R 1T 8 kmyeer B 3R
furdt < 1fd 10 km/HeT 8, O IS IIH F 95

=R foreft g W B 2
(a) 200m
(b) 300m
(c) 400m
(d) 500m

A 3 s 4 U fgEa @i = g
H H TS TR | 3 F Fa v foed wwe
Tt TR St 3R gE (4, 3) el | s A x
%1 Ton foraa o Terdt o € @R e (3, 2)
et | iRt % ot 7§

(a) -4, -3
b 6,1
() 4,3
d -6 -1




46. Consider the following statements :
1.  Of two consecutive integers, one is.even.
2.  Square of an odd integer is of the form

8n + 1.

Which of the above statements is/are correct ?
(a) 1only
(b) 2only
(c) Both1land?2
(d) Neither 1 nor 2

47. The system of equations 2x+4y=6 and
4x + 8y =8 is
(a) Consistent with a unique solution
(b) Consistent with infinitely many

solutions

(¢) Inconsistent
(d) None of the above

48. NP '_1)isa multiple of p, if N is prime to p
and pisa
(a) Prime number
(b) Rational number
()  Real number
(d) Composite number

49. The ratio of two numbers is 1 : 5 and their
product is 320. What is the difference between
the squares of these two numbers ?
(a) 1024
(b) 1256
(c) 1536
(d) 1640

50.- 25 kg of alloy X is mixed with 125 kg of
alloy Y. If the amount of lead and tin in the
alloy X is in the ratio 1 : 2 and the amount of
lead and tin in the alloy Y is in the ratio 2 : 3,
then what is the ratio of lead to tin in the
mixture ?
(a) 1:2
(b) 2:3
e 315
d 7:11

BLS-S-FDE

51.

52,

53.

(14-A)

The mean of 5 numbers is 15. If one more
the mean of the
6 numbers becomes 17. What is the included
number ?

number is included,

(a) 24
(b) 25
() 26
@ 27

The mean marks obtained by 300 students in
a subject are 60. The mean of top 100 students
was found to be 80 and the mean of last
100 students was found to be 50. The mean
marks of the remaining 100 students are

(a) 70
(b) 65
() 60
(d 50

Consider the following distribution :

Class Frequency
0-20 17
20 — 40 28
40 — 60 32
60 — 80 &
80— 100 19

If the mean of the above distribution is 50,
what is the value of ' ?

(a) 24
(b) 34
(e 56
d 96



46.

417.

48.

49.

50.
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Frafafaa st w o= Hifse

1. & ShHTTA qUITehi § & T FH 2 |

2. T fawm qufs F o Fi 8n+ 1H &I A
g w=a § |

I FAl H B BV TE E 2

(a) ohae 1

£ 1“2%7 ﬂ_rhﬂ?[‘

\Cj LR 4 QT

(d dA LA 2

1EIIﬁEF{“TﬁI$T@I2:st+f;lj,r=63?ﬁT4:):+8y=8
(a) U AfGHT & % A9 T &

(b) Hdd: A Bl o 91 TG 2

(c) &8

) IF® T @ B T

p % Tk O (NP1 - 1) R, IR N, p & 31Ty
23R p2

(a) ITUTSE EEAT

(b) UiEET T

(¢) ITifereh HEAT

(d) W FE

T TEITHAT HT G 1: 58 I I UGS
320 % | 3 < GEASH % T F d= F AW
TR ?

(a) 1024

(b) 1256

(c) 1536

(d 1640

forfa fomar T | afe frgreng X & <ier ot O
(E) < AT T AT 1: 27 R fasurg YH
e 3fi W T HET H Y| 2: 38, MW
forsror & e ofR M 1 sIga =@ AT 2

(@ 1:2

B 2:3
(¢ 3:b
d 7:11

51.

52,

a3.

(15-A)

5 Tl w1 AET 15 § | IR TS R T
ST ST, dF 6 TEAIST T AT 17 & IKT 7 |
S T T ;R 2

(a) 24
(b) 25
() 26
d 27

et fawg o goo0 ferenféiai g wra feu o
35l 1 3T 60 8 | UES T & 100 TommmerEi
% 3%k ol JHIEd 80 9THT 7T 9T MG g &+
100 Tl & afehi 1 3T 50 9RT T |
3y @ 100 Frenfit & 7=t =1 g e g 2

(a) 170
(b) 65
(c) 60
(@ 50
frefafas e w o= Fifsg
7 ST
0-20 17
20 — 40 28
40 — 60 32
60 — 80 f
80 — 100 19

32 IuYeh sied 1 HIEA 50 B, T £ H AR T4

27

(a 24
() 34
() 56
(d 96



54.

55.

56.

57.

In a pie diagram, there are four slices with
angles 150°, 90°, 60° and 60°. A new pie
diagram is formed by deleting one of the slices
having angle 60° in the given pie diagram. In
the new pie diagram

(a) The largest slice has angle 150°

(b)  The smallest slice has angle 70°

(¢)  The largest slice has angle 180°

(d) The smallest slice has angle 90°

In an asymmetrical distribution, if the mean
and median of the distribution are 270 and
220 respectively, then the mode of the data is

(a) 120
() 220
(e) 280
(d) 370

Let a, b, ¢, d, e, f, g be consecutive even
numbers and j, k, I, m, n be consecutive odd
numbers. What is the average of all the
numbers ?

3(a+n)
(a) e _
(51 +7d)

4

(a+b+m+n)

4
None of the above

(b)

(c)
(d)

An individual purchases three qualities of
pencils. The relevant data is given below :

58.

59.

Consider the following frequency distribution :

x | Frequency | Cumulative frequency
1 8 8
2 10 18
3 & 29
4 £ 45

Quality

Price per
pencil (in T)

Money
spent (in T)

A

1-00

50

B

1-50

X

Cc

2-:00

20

It is known that the average price per pencil is

£ 1-25. What is the value of x ?

(a) T 10
(b) ¥ 30
(¢ T 40
(d) <T60

BLS-S-FDE

60.

(16—A)

What are the values of f; and £, respectively ?

(a) 10and 17
(b) 17 and 10
(¢) 11land 16
(d 16and11

If D is the number of degrees and R is the
number of radians in an angle 0, then which
one of the following is correct ?

(a) =D =180R
(b) =D =90R
(c) | 7R = 180D
(d) =R=90D

What is the minimum value of

9tanZ0+4cot20? -

(a) 6
(b) 9
(e 12
(d 13



b4.

56.

56.

Th Qﬂﬁ'@ (pie diagram) % TR WE & I
150°, 90°, 60° & 60° & | U TT FARG F 60°
I A WO T EST F T AT JARE AT
TR | Y gARE o

(a) TIH TS W HT HIT 150° 3

(b) U™ DI HET T HIT 70° 8

(c) U TS WA T HIT 180° 8

(d) TEQ DI HAT T HIT 90° 7

T Al e H, A S B wre 9 Hiferh
FHN: 270 9 2208, T TS| H1 TEeTH F41 8 ?

(a) 120
(b) 220
() 280
(d 370

T oifT a, b, ¢, d, e, f, g HATTT TW T&AN &
3N j, k, I, m, n HATFE foeq geand g | @i
FEATHAT T HIET 41 & ?

3(a+n)
(a) =
) (51 +7d)
4
(& (a+b-;m+n)
(d) 3I9Yw A 9§ Hig @
57. U gfeq dF YR o Uit @licar & | deg
e = ey §
fd T &
| e (2 ) m@’%
A 1-00 50
B 1-50 b4
C 2:00 20
I 9 @ o ue Ufee & offwa IoT T 126
B xHIAA TR ?
(a) <10
®b) ¥30
(¢ T 40
d T60
BLS-S-FDE

58.

89.

(17-A)

frefufigs samar s w faem Hifm
x | SRERAT Herft SHETan

1 8 8

2 10 18

3 £ 29

4 fy 45

f, 3 £, % HH AN 1 E ?

(@) 103117
(b) 17 3R 10
() 11316
(d) 16311

Ife fordt =0T o #, D aremeRi &1 qem R et
?ﬁw%,?ﬁﬁm%%aﬁﬁaﬂmmﬁévuﬁ
i

(a) =D =180R

(b)
(e) nR = 180D
(d), nR=90D

nD = 90R

9 tan? 0 + 4 cot? 0 %1 ITCYAH A T & ?

(a) 6
b) 9
() 12
(d 13



61.

2z tan®

If xsin6=ycos0= 3

, then what is

1-tan®0
472 (x® + y2) equal to ?
(a) (Z+y?8
by (2-y2?
© -y

@ (24?2

62. 1If cos B, + cos 6, + cos 8; = 3, then what is
sin 6 + sin 0, + sin 6 equal to ?
(a) 0
(b) 1
(c) 2
d 3
63. What is the value of 6 which satisfies the
equation cos @ +tanf6=1 ?
(a) 0°
(b)  30°
(c) 45°
(d) 60°
64. What is the value of
sin x J 1 + 1 ?
l+cosx 1-cosx
(@) 2
(b) 242
() 2tanx
d o
BLS-S-FDE

65.

67.

(18-A)

cos* A — sin? A

cos 2 2A

What is equal to ?

A — sin
(a) cos?A—sin?A
(b) cosA-ginA

(e 1

d 2

If 7sin®x+3cos?x=4, 0<x<90° then
what is the value of tan x ?

(a) 2
(b) 1
V3
(e) ?
1
d) —
J3

An aeroplane flying at a height of 300 m above
the ground passes vertically above another
plane at an instant when the angles of
elevation of the two planes from the same
point on the ground are 60° and 45°
respectively. What is the height of the lower
plane from the ground ?

(a) 100+/3m
100
b Al
(b) 7= m
(¢ 50+3m
(d 150(J3+1)m



. 2z tan 6 . 4 .4
Ife = e cos"A — sin" A
¥ e bl g 65. 22 fruh TR R 2

- tan”0 cos?2A — sin?A
472 (x% + y%) Foras U R ?
(a) (x%+y2)3 (a) - cos? A —sin? A
b G-y (b) cosA—sinA
@ GF-y28 -
c

d) 2+ y%?

d 2

62. ﬂﬁ cos 6, + cos 6, + cos 65 =3 %,

al sin 0, + sin 0, + sin 0, fohTeh ST 8 ?
' b At % 66. ?lﬁ'{7sin2x+3c:052x=4,0<x<90°%,?13[

(@ 0 tan x 1 A FT 8 ?
® 1 | (&) 2
© 2 (b)) 1
@ 3 © V3
2
1
d —=
63. 6 FTIT A THIHT cos 6 + tan 6 = 1 HI V3
T HAT R ?
(a) 0° .
67. UH TATS &N, S 9%l & 300 m s &g W
(b) 30° 35 @ 7, fAefl & WU g wEE e &
(c) 45° ‘ Frattl FYLH ORET & | IH 80T W HTdl % T
@ 6o ; & fog & gF &aR SR % IAET IV AN
60°d 45° ¥ | fi9 et gaTS RN I u A
SuE w R 2
64. sin xJ b gl &1 UM 7 8 ? (a) 100¥3m
l+cosx 1-—cosx
100
(a 2 (b) ol
b 242
(¢) 50+/3m
(¢) +2tanx |
@ 0 (d 150(¥/3+1)m

BLS-S-FDE (19-A)



The angles of a triangle are in the ratio
2:4: 3. The smallest angle of the triangle is .

(a) 20°

(b) 40°
(c) 50°
(d) 60°

A ball of radius 1 em is put into a cylindrical
pipe so that it fits inside the pipe. If the length
of the pipe is 14 m, what is the surface area of
the pipe ?

(a) 2200 square cm

(b)
(¢)
(d)

4400 square cm
8800 square cn

17600 square cm

68. Ifx=acos®+bsinbandy=asinb-bcos,|72.
then what is x? + y2 equal to ?
(a) 2ab
(b) a+b
(¢ a2+b?
(d) a?-1b?
73.
69. From the top of a building 90 m high, the
angles of depression of the top and the bottom
of a tree are 30° and 45° respectively. What is
the height of the tree ?
(a) 304/3m
(b) 90-303m
(¢ 90+30v3m
(d 60+30v/3m
4.
70. Which one of the following triples does not
represent the sides of a triangle ?
(a) (3,4,5)
(b) (4,7,10)
(c) (3,6,8)
75‘
71. If the perimeter of a rectangle is 10 ¢m and
the area is 4 em?, then its length is
(a) 6cm
(b) 5cm
(¢) 45cm
(d 4em
‘BLS-S-FDE (20-A)

The areas of two circular fields are in the ratio
16 : 49. If the radius of the bigger field is 14 m,
then what is the radius of the smaller field ?

(a) 4m
(b) 8m
(¢ 9m
(d 10m

Let ABCD be a rectangle. Let P, Q, R, S be the
mid-points of sides AB, BC, CD, DA
respectively. Then the quadrilateral PQRS is
a

(a) Square
(b) Rectangle, but need not be a square
(¢)  Rhombus, but need not be a square

(d) Parallelogram, but need not be a
rhombus



68.

69.

70.

71.

BLS-S-FDE

I x=acosO+bsinb 3
y=asin8—bc059%,ﬁ}x2+y2ﬁﬂ:!aiw
27

(a) 2ab

(b) a+b

() a2+ b2

(d) a?-p?

FrftoomIm e s d v gw &
i 3 qd 5 ISTHT HIT HHIA: 30° 3R 45°
ZIIMASTE AR ?

(a) 303m
(h) 90-30+/3m
() 90+30+3m

(d) 60+304/3m

Frefafaa § & - B v Bige 6t yened
I 7T T & ?

(a)
(b)

(3,4,5)
(4,17, 10)
() (3,6,8)

d (2,3,6)

aft ©H R H1 GRE 10 em 3N QA

4 cm®®, T ST TS FR 7
(a) 6cm

(b) 5cm

() 45cm

(d)

4 cm

72.

73.

74.

75.

(21-A)

fopet P o I T U 2:4:38 | 3W

Bt =1 e Bl S 8
(a) 20°
(b) 40°
(e) 50°
(d) 60°

el SeMTPR UET # 1 em Fewm At v e
ereft 1€ @ S sEH gl ave e 8 ot B | 3fg
159 i TS 14 m R, A 9IS BT T HABA
fepaT 8 2

(a)
(b) 4400 T cm

2200 91 cm

(c) 88003 cm

(d) 17600 S cm

&l TR @Al & AABA! T I 16 : 497 |
afe wg @ & BS9 14 m B, 91 B ETq
e wng?

(a) 4m
(b) 8m
(¢) 9m
(d 10m

7= fifsiy ABCD U ot B | 9y et AB,
BC, CD, DA % #eA-forg SRl P, Q, R, S &, @
9qs PQRS T & ?

(a) @t

(b) 371, fbeg &l BT HHTavae TEl

(0 TvegHs, g o 8T eTTeRas TE

@) THER TS, g TEgs B sTaves
el



76.

1.

78.

BLS-S-FDE

Let P, Q, R be the mid-points of sides AB, BC,
CA respectively of a triangle ABC. If the area
of the triangle ABC is 5 square units, then the
area of the triangle PQR is

(a) g square units

29
® —
22

square units

(e) % square units

(d)

1 square unit

If each of the dimensions of a rectangle is
increased by 200%, the area is increased by

(a) 300%
(b) 400%
(¢) 600%

(d) 800%

Three circles each of radius 3'5 cm touch one
another. The area subtended between them
is

(@) 6(3r-2) square units

(b) 6(2n—+/3) square units

(c) % (238 -m) square units

(d) %(«E — ) square units

79,

80.

Bl.

(22-A)

The area of a regular hexagon of side ‘a’ is
equal to

(a) o a? square units

(b) ?'—\2/—5 a? square units
1 o .

(c) 3 a“ square units

(d) % a2 square units

ABCDEF is a regular polygon. Two poles at C
and D are standing vertically and subtend
angles of elevation 80° and 60° at A
respectively. What is the ratio of the height of

‘the pole at C to that of the pole at D ?

@y 1L:l

(b) 1:243
€ 243:1
@ 2:43

Two parallel chords of a circle whose diameter
is 13 c¢m are respectively 5 ecm and 12 cm in
length. If both the chords are on the same side
of the diameter, then the distance between
these chords is

(a) 55cm
(b) b5em
(¢) 35cm
(d) 8cm



76. WM Wi Rt B ABC &t sl AB, BC,|79. T wH woyw &1 dmwd, Rl qem @ R
CA % Wea.faeg A¥: P, Q, R & | aft By fepeeh s & 7
ABC %1 &0 5 7 318 7, A st PQR #1

et Rt 2 2 @ 32 a2 gt
G %aﬁm (b) gazaﬁm
L %aﬁm @ 3 a? g

(c) gaﬁfﬁré | () %ﬁaﬁmé
(@ 1 3

80. ABCDEF U ¥H e84 2 | Cdd DR q @W
FeI @ B, S A W HAM: 30° IR 60° F
77. e Rt e i g2 g AT F 200% I P IaRd W F | C W @S @Y &

we1 faan sy, qf &ee et =g Smam 2 Sené 3t D W @2 @Y I Su1E H U R
(a) 300% &2
(b)  400% | @ 1:1
(¢ 600% | b 1:2V3
(d) 800% () 248 :1
@ 2:48

78, @ T, Fed ¥ TS N B 35 m B,
THGR F T FA § | Ik 9 SRd |81, uH g9, Rme =@ 13 om ¥, B Q wERR

e foha & 7 et h s FAM: 5 om 3R 12 cm B | AR
@ 6(3n-2) ot 3 BT St SaTE % TH & WS g, 1 5 SHansd
¥ o o 2 Pt 2 7
(b) 6(2n—+/3 ) 3HE W—
(c) %(2\/5—::) 1 RIS (b) 5em
(¢) 85cm
) %(ﬁ—n)aﬁwé o B

BLS-S-FDE (23-A)



82.

83.

85.

BLS-S-FDE

If the radius of a right circular cone is
increased by p% without increasing its height,
then what is the percentage increase in the
volume of the cone ?

(a) p?

2

(b) 2p

2
P
(c) 100

p
o FoA N
P( * 100)

A copper wire when bent in the form of a
square encloses an area of 121 cm? If the

(d)

same wire is bent in the form of a circle, it
encloses an area equal to

(a) 121 cm?
(b) 144 cm?
(¢) 154 cm?
(d) 168 cm?

ABC is a triangle and D is a point on the side
BC. If BC=12cm, BD =9cm and
£ ADC = £BAC, then the length of AC is
equal to

(2)
(b)
(c)
(d)

5 cm
6 cm
8 cm

9 cm

If the surface area of a sphere is reduced to
one-ninth of the area, its radius reduces to

(a)
()
(©)
(d)

One-fourth
One-third
One-fifth
One-ninth

86.

87.

88.

(24-A)

In a trapezium ABCD, AB is parallel to CD
and the diagonals intersect each other at O.
‘What is the ratio of OA to OC equal to ?

(a) Ratio of OB to OD
(b) Ratio of BC to CD
(¢) Ratioof AD to AB
(d) Ratio of AC to BD

Ice-cream, completely filled in a cylinder of
diameter 35 cm and height 32 cm, is to be
filling
disposable cones of diameter 4 cm and height

served by completely identical
7 em. The maximum number of persons that

can be served in this way is

(a) 950
(b) 1000
(© 1050
(d) 1100

The radius of a circle is increased so that its
circumference increases by 15%. The area of
the circle will increase by

(a) 81:26%
(b) 32:25%
() 3325%
(d) 34-25%



82,

83.

84,

85.

BLS-S-FDE

(d)

afe T qrage wig 6 S § gfy fapu famn
It B2 p% @@t € S, @ Wi & e |
fera wftera 9fg ot 2 2

(a) p2

(b) 2p?

© =2

P
2 —
p[ & 100]

afe afe & wh ar @l % w9 § Grer 9 R,
@l 368 121 em? gEhe wiEg Bt § | 3y & i
IR H TH g9 o €9 § W I 7, 9 56h
g iteg ewd foper 2 2

(@) 121 cm?

(b) 144 cm?
(¢) 154 cm?
(d) 168 cm?

ABC T Brys 7 3 Y BC W wH forg
D2 | 3 BC =12 cm, BD = 9 cm 3R
Z ADC = ~ BAC &, @l AC ! &g <=1 anft 2

(a)
(b)

5 em
6 cm
(c) 8em

(d)

I} freft M &1 ySiE dwa e IEk
AT w1 A fEwE R s R, @ seeh
B et v st 2

(a) UH-=TE

(b) ueh-foETs

(¢) T w1 qr=ral faean
(d) U & et fawmT

9 cm

86. TH wHwe (¢Hifsad) ABCD #, AB 3R CD

817.

88,

(25-A)

T & 3 Tl uw-gm #t fag 0 W e
& | OA 3 OC T T forass st & 2

(a) OB 3T OD T 3T

(b) BC 3R CD %1 3JUTq

(c) AD 3T AB &1 39T

(d) AC 3R BD I U™

Waﬁq(ﬁ%ﬁ_@[)aﬂm35cmaﬁ{m
32 cm 8, S EWHW ¥ [ WU FIM B | TE
AT ITANT ek hehd OAH I THEY
vipall § gl W Wt St 8, R =ma
4cm3ﬂ'{&ﬁ1§7cm% Iaﬂﬁﬁ?ﬁﬁ%
Ut 5 " 2

(a) 950

(b) 1000
(¢) 1050
(d) 1100

TH o6 h e wers 1 ey Igeht oidy #
15% $1 3fg 8 | 39 aea & et gy
gt 2

(a) 31-25%
(b) 32:25%
(e) 3325% .
(d) 34-25%



89.

BLS-S-FDE

ABCD is a rectangle. The diagonals AC and
BD intersect at O. If AB = 32 em and
AD = 24 c¢m, then what is OD equal to ?

(a) 22cm

(b) 20cm
18 em

(c)

(d) 16cm

A field is divided into four regions as shown in
the given figure. What is the area of the field
in square metres ?

2m

1m

- 2m

3m

(a)
(b)

(c) '9+%JE

d T+242

(26-A)

91,

92.

In the figure given below, D is the diameter of
each circle. What is the diameter of the shaded
circle ?

(@ D(H2-1)
() D(H2+1)
(0 D((H2+2)
d D@-+2)

In the figure given below, AC is parallel to ED
and AB = DE = 5 cm and BC = 7 cm. What is
the area ABDE : area BDE : area BCD equal
to?

E 5 cm D

7 cm C

(@ 10:5:7
(b) 8:4:7
¢y Bul:2
(d) 8:4:5



89. ABCD U% 3md ® | faewol AC sflt BD wsh-gat
® OWHFET | I AB = 32 em W
AD =24 cm ®, d1 OD fore® =R & 2
(a) 22cm
(b) 20cm
(¢) 18 cm
(d 16cm
90. TH Wd (Fies) =t 9r =1 o fwfa e mn
8, Sar &5 § 7w emepfa # qulw wn ¥ | @9
(Freg) 1 &her o) Hiet 7 fohar & 2
2m 2m
) L
1m
>
—~ 2m
3m
3m
3 m ’
(2) s+§J§
(b) 5+§J§
tCJ 9+§~/1“5'
@ 7+2+2
BLS-S-FDE

91. ﬁ%laﬁm@ﬁﬁ,mﬁmmn’él
SHIhd g ol AT 4T § ?

(a)

(b)

(c)

(d)

92,

Di(J2~1)
D{J2+1)
D((J/2+2)

D(@2-+2)

= § ¢ ansfa #, AC 3t ED warw &, aik
AB =DE =5cm U

BC =7 em %l

&8T5 ABDE : &9% BDE : &9%& BCD
fras set § 2

E 5em - D

(a)
(b)
(c)
(d)

(27-RA)

7 em C

10:5:7
8:4:7

2: 142

8:4:5



93. In the figure given below, PQRS is a

94.

BLS-S-FDE

parallelogram. PA bisects angle P and SA
bisects angle S. What is angle PAS equal to ?

P Q
A
S R
(a) 60°
(b) 75°
() 90°
(d 100°

In the figure given below, £ A = 80° and
2 ABC = 60°. BD and CD bisect angles B and
C respectively. What are the values of x and y
respectively ?

A

(a) 10and 130

(b). 10 and 125
(¢) 20and 130

(d) 20and 125

95.

(28-A)

In the figure given below, PQR is a
non-isosceles right-angled triangle, right
angled at Q. If LM and QT are parallel and

QT = PT, then what is £ RLM equal to ?

P
T
M
Q L R
(a) ZPQT
(b) «LRM
(¢) < RML
(d) <ZQPT

In the figure given below, PQ is parallel to RS
and PR is parallel to QS. If ~ LPR = 35° and

- £ UST = 70°, then what is £ MPQ equal to ?

(a) 55°
(b) 70°
(e) T75°
(d) 80°



98. =9 & T HM H, PQRS Th wHI=H <y |95.

T | PA IV P a9 SA I S # e

HLAt 2 | BT PAS ForEes TR ® 2

by

(a) 60°
(b) 75°
() 90°
(d 100°

94. = & T ampla

Fvr ¢ H el et §
SHHST: &1 B 2

A

ZA = 80°
ZABC =60°% | BD 3 CD %4ST: &7 B 3fi
x 3R y & O

(a) 103K 130
(b) 103 125
(¢) 203 130
(d) 203 125

BLS-S-FDE

96.

37

(29-A)

e & 15 Bl H, PQR U fawmfgaTg wmenior
fogw 2, o @i Q wwepior @ | Al LM aik
QT TH=R & 4T QT = PT 2, @ ~ RLM e

TEC R ?

P

\\T
M

Q L R
(a) 2«PQT
() ~LRM
(© ~RML
(d ~<QPT

42 & 7% afa #, PQ 3 RS wHT & qur
PR 3R QS &A= & | afe £ LPR = 35° 3k
4UST=_70°%,€L¢MPQ%H%W%?-

(a)
(b)
(c)
(d)

556°
70°
75°
80°



97. In the figure given below, ABC is a triangle
with AB = BC and D is an interior point of the
triangle ABC such that £ DAC = £ DCA.

B

D

A C
Congider the following statements :
1.  Triangle ADC is an isosceles triangle.
2.  Dis the centroid of the triangle ABC.
3. Triangle ABD is congruent to the
_triangle CBD.

Which of the above statements are correct ?
(a) 1and2only
(b) 2 and 8 only
(¢) 1and3only
(d 1,2and3

98. In the figure given below, M is the
mid-point of AB and £ DAB = £ CBA and
Z AMC = Z BMD. Then the triangle ADM is
congruent to the triangle BCM by

C D
A M B
(a) SASrule
(b) SSSrule
(c) ASA rule
(d) AAArule
BLS-S-FDE

99.

100.

(30—A)

ABCD is a square. X is the mid-point of AB
and Y is the mid-point of BC.

Consider the following statements :

1.  Triangles ADX and BAY are congruent.
2. £ DXA=<AYB.

3. DXisinclined at an angle 60° with AY.

4. DX is not perpendicular to AY.
Which of the above statements are correct ?

(a) 2,3 and4only

(b) 1,2 and4only
(¢ 1,3 and4 only
(d) 1and2only

From an aeroplane vertically over a straight
horizontal road, the angles of depression of
on the
opposite sides of the aeroplane are observed to
be o and B. The height of the aeroplane above
the road is

two consecutive kilometre-stones

tan o +tan 3
tan o tan

(a)

tan o tan f3
tano +tan

(b)

cot o cot B

e cot o + cot B

cot oo + cot B

d.
0 cot o cot



97.

98,

BLS-S-FDE

f2 & 7 el #, ABC H B 2 R
AB = BC 8 71 f1s ABC # T ar=afieh forg
D, 39 YR 8 f6 . DAC=~DCAR |

B

LN,

Frefafaa wemt w faem Hifvo .

1. s ADC v wwfgeng frgw 2

2. B9 ABCHI FZH DR |

3. Ty ABD 3R fs CBD walmam % |
39 el § ¥ B T § 2

(a) hae 1311 2

(b) Fad 230N 3

(¢) *Had 131 3

d 1,23M3

A 8 apfa #, AB 1 menfaeg M @ den
ZDAB=/CBA® 3R - AMC = «BMD % |
a9 Frgst ADM R o BoM forw Fem &
T § ?

. ¢ D

NN

A M B

SAS fam
sss g

ASA Fem
AAA fam

(a)
(b)
(c)
(d)

99.

100.

(31-A)

ABCD @ & 2 | AB &1 wea-fomg X  @enm BC
w1 AeAfog YR 1
Frfafga sl w faem Hift

1. s ADX 3 BAY qatimem # |

2. ZDXA=/AYB.

3.  AYS 1Y DX, 60° % S0 T T & |
4. AYWRDXTE A8 & |

39T weHl H § Y HEE 2
FaeT 2,3 3R 4
&Had 1,2 34

Hae 1, 3 3N 4
e 1 3R 2

(a)
(b)
(e)

(d)

s Mt &fvs wse & Fwh W 79
SRS |, af shurTa fereiier % geudd, < zaT
SiEre & faod fegnedt 4 &, & s1gamT +ir o
3 p Iftad e T ¥ | ek & S g @A
HNIAE FL?

tan o + tan B
tan o tan

(a)

tan o tan

(b)
tan o + tan 3

cot o cot B

0 cot o + cot

cot o + cot B

o cot o cot
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Note : English version of the instructions is printed on the front cover of this Booklet.
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